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Sennis Company has the following comparative balance sheet data.

BENNIS COMPANY
Balance Sheets

December 31
2005 2008
cash 521,500 5 35,000
Receivables (net) 87,500 72,000
Inventories 68,500 60,000
Plant assets (net) 240,000 216,000
5417,500 384,000
Accounts payable $60,000 $72,000
Mortgage payable (15%) 120,000 120,000
Comman stock, 510 par 168,000 13,000
Retained earnings. 69,500 48,000
417,500 384,000

Additional information for 2005:

1. Netincome was $34,000.

2. Sales on account were $443,000. Sales returns and allowances were $23,000.

3. Cost of goods sold was $202,000.

4. The allowance for doubtful accounts was $2,700 on December 3t, 2008, and $3,000 on December 31, 2008.
Instructions

Compute the following ratios at December 31, 2008. (a) Current. (b) Acid-test. (c) Receivables tumover. (d) Inventory tumnover. (Round answers to 1 decimal
place.)

e Emererate =
(b) Acid-test ratio i1
() Receivables turnover times
(d) Inventory turnover times
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Selected comparative statement dats for Willingham Products Company are presented below. All balance shest data are as of December 31.

Net sales
Cost of goods sold

Interest expense

Net income:

Accounts receivable

Inventory

Total assets

Total common stockholders' equity

Instructions

2009
§777,000
488,000
8,100
53,000
123,000
94,000
592,000
433,000

2008
§732,000
452,000
5,100
46,000
109,000
81,000
512,000
334,000

Compute the following ratios for 200. (a) Profit margin. (b) Asset turover. (c) Return on assets. (d) Return on common stockholders' equity. (Round answers to

1 decimal place.)

@) profit margin

(b) asset turnover

times

(€) Return on assets

() Return on commen stockholders' equity
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